OM0012 SCM

1 Explain the different modes of transportation.

Model

The term ‘transportation(T)’ is associated with the movement of individuals or

products from one place to another through various mediums such as

airplanes, trains, buses, trucks, and ships. T model deals with minimising costs associated with T  of products. Such  are a special case

of linear programming.Aggregate planners  solve aggregate

planning problems by identifying and minimising inventory costs, regular

time, & overtime costs, etc.

2 Write about a)risk pooling(RP) b)Its importance c) Its 4 types

Ans:-RP  is key concept in SCM. RP indicates that we can reduce 
demand(D) variability by  seeing aggregating D(AD) across locations. By doing so 

, we can ensure that high D from 1 cus is offset by low D from another. We can,  reduce safety stock(SS) &average inventory.

b) RP enables accurate D forecast(DF).It helps in risk management, mostly to insurance companies. Here, such  form pool to protect to I-co. against catastrophic risks as floods, earthquakes, etc.RP involves the use of centralised inventory to gain benefits when D is > avg at some retailers &< avg at others. Idea behind it  is 
either to reduce  uncertainty(U) firm faces or to be cautious about  U .

c)Below are 4 types of RP:

Location RP is used to lower stock while holding service constant, or to increase service while holding inventory cost, or is used to combine stock reduction & service increase.It is used to broaden pd line, since it lowers D-U which

is measured with  coefficient of variation(cOV).Reduced D-U reduces stock needed to get a target service level. FMCG co  as HUL uses  regional distributors(distr) for large geographic areas or states. E.g, one regional distr  in a place like Bangalore will stock entire pd- line & cater to D

 of local distr across state or large retail outlets in  region.

Product(P)- RP: It  keeps P separate, but forcing 1 or more of their cOV  to be same or similar. It  is measure to deal with the risks involved in sale of

the agricultural goods.  There is rise in  interest in pd- differentiation & dev of 

value chains which is a means to raise returns to  farmers.It is most effective,

if cOV of  Universal P is > cOV of individual pd. It is widely used for stocking food & associated pd.e.g,different kinds of rice could be stocked together at a common place &then supplied to cus, based on D.

Lead time(LT) RP by dividing  replacement orders among multiple sup is a sourcing policy which has been in D for  academic researchers for > 20 years. It is the best.

It is a way to reduce SS which has to meet  service targets or the expected number of

backorders for a prescribed level of safety. It also reduces  cycle stock.

Here incremental OC of 2nd &subsequent orders may be relatively small in a variety of settings. It is further of 2  types as:

Delayed differentiation: Alderson in 1950 told about postponement first

.Here,we can add the options or make differentiating changes

to pd at the release time which is nothing but the time of

purchasing by the end use cus. Mfrg postponement

allows better forecasts.It is suitable for innovative pd with short PLC & high risk of obsolescence. Whenever there is a variety of cus- D,use it.

High end car mfrr use it & offer high level of customisation.

Consolidated distribution reduces retail inven by > 50%. It is

not as effective at reducing inven as location pooling, but it keeps invent

 near D, thereby avoiding additional shipping costs (to cus) &allowing cus to look & feel 

pd. It also reduces inven, even though total LT rise from 8 to 9 weeks. It helps in getting  quantity discounts in buying also to scale up  economy in transportation. This is used  where cus needs  more number of deliveries in less quantity or when cus is having a constant increase in D.

Capacity(C) RP:There are many recent trends motivating firms to merge the

C  which were dedicated to specific cus.Focus on modularisation in mfrg systems helped to redesign the parts which are made at  same mfrg C  & so separate pdn processes for parts 

can be merged later.e.g,mfrr of car gets many orders from different distr for one particular model. Instead of treating this as multiple orders at pdn line, he can treat this as a

single order, thereby saving valuable time and resources. But  see below:

Centralised inven saves sS & avg inven.

Higher COV, more benefit got from RP.

Benefits from RP rely directly on  behavior of relative mkt.e.g

In 2 mkt where D in both is more or less avg. We can then consider

that D from mkt are positively correlated.So benefits derived from RP lower as

 correlation b/w both mkt becomes more positive.

Thus, by combining inven at a single location,  amount of sS

that is needed for service level lowers.So,RP is based on  standard deviation of

AD is < total of SD of  individual D.

3 Explain the different types of purchases in portfolio analysis.

Ans:- Types of Purchases(P) are as:

Routine P includes many standard items with low price. E.g, stationery, food items, fuel . These are readily available in mkt.

Many suppliers(S) compete in mkt by offering 

lowest possible prices for these .

Such have many P & so they use a disproportionate amount of administration.So,

 our focus of P  here is to minimise  overhead costs by

standardisation, consolidation of P  & substitution of standard

products.

e.g, Ananya Pharmaceuticals Limited found that its research and

development group was using 50 different Bunsen burners. Ananya then

standardised some purchases. It simplified P process using

EDI.It is automatic Ordering System.It generate online catalogue,

& P cards .

Another co Tangent, created a website catalogue for 

Cus to make online P.cus made online payment using

Co procurement card (corporate credit card). Tangent then

consolidated P made by its cus from their website

catalogue. The consolidation of buyer reduced  

ordering costs of cus.

Bottleneck occurs when a single supplier(S) is the only 

source of providing materials required by co that has stringent specifications

& no other suppliers can provide those materials. For example, consider a
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co producing scanners which has strict specifications for components

used in the scanner. Co buys components from a specific

S . Though such materials are not expensive,  unique specification

limits  number of S . Here, S  who sell these items have

a dominant position & they certainly exploit buyers.Co

can control this by changing the specifications thereby allowing new

S  to partner with, moving to standard products or scanning the

market for additional S . Here, if co

producing scanners changes  specifications of  components to

generic, then they can search new S who provide those components

at a better price.

Leverage  occurs when there is medium-to-high expenditure. In

this kind of P, many S  are involved in limiting the supply risk.

Items bought are of industry standards that are used by every

department .It involves combining needs of each department, negotiating a deal with a few S  & ensuring significant business over an extended period. Here, the

S  gain more efficient O with lower unit costs & overheads.

In turn, they must provide a high level of services that include

managing on-site stocks, delivering the items within the specified time and

flexibly responding to changing conditions. Today, suppliers use e-auctions

for such items.

Strategic P occurs when there are unique 

&expensive items that are key for co’s success. Few

specialised S  sell such items.e.g, 

certain chemicals,cutting edge technology, aero engines, etc.,


4 Describe the reasons for bullwhip effect(BE) &explain the methods to decrease it.

BE states that the variability in D rises as one moves

up in SC . BE leads to inventory excesses or shortages and thus results in an increased cost to the company as well as to SC . Effective sharing of information among the various stages

of SC  helps to diminish it.e.g,Managers at P & G found in  order for diapers.They

 found that its sale was uniform throughout the year.If orders to its suppliers  varied. This

will cause  BE. 

 Reasons for BE are:

i)With DF ,we estimate future D .We ‘ve to estimate correct 

 future D .Upstream member in SC needs to readjust DF as per order placed by the downstream member. Order thus placed by downstream &upstream members finally reaches mfrr.But, orders that reach mfrr are an exaggerated D & not 

 actual D. As a result,variability occurs in product scheduling, capacity planning and inventory management & hence BE .

ii) LT  is  time interval from when cus places an order to time cus

 receives the order. Variability rises with rise in LT .

 A longer LT  results in a small change in the estimate of D variability. This implies a considerable change in SS & reorder level, leading to a change in the

order level. This, in turn, results in an increase in the variability & hence

leads to BE .

iii) Retailers use Batch ordering  intermittently to place a large

order. The wholesalers then do not get any orders from the retailers for

a long time interval.So wholesalers find a distorted and highly

variable pattern in the orders placed. Hence, it too leads to BE.

iv) One of the main reasons for  BE is Price fluctuation .In order to increase the cus D  for pd,distributors often introduce various schemes such as rebates and coupons.This results in a variation in D  for Pd. Moreover, if the price

of a product fluctuates frequently, retailers stock pd when the price

comes down. This variability in price leads to BE.

v) Most retailers place Inflated orders  when there is a shortage of pd.

 This inflated order often magnifies BE.Retailers & distributors place inflated orders mainly when they expect pd to be in short supply in the near future. But when pd 

supply regularises, both place their standard order resulting in distortions

&increases BE.

 Methods to cope with BE are as:

i) We can effectively reduce BE by Reducing U . We can do this by centralising the D -data. Centralising makes D of cus & retailers visible to all

 partners of SC .

It is better to provide information regarding  D  to the members in

SC  in order to reduce U . Reducing U  throughout SC  helps to decrease BE but does not eliminate it completely.

ii) We can diminish BE by reducing variability in cus D .

 Frequent fluctuations in pd price leads to rise or fall in D &results in

variability in SC . It is possible to reduce  variability with 

Everyday Low Pricing(EDLP)Strategy. EDLP  provides pd at 

a consistent price to cus rather than offering periodic price promotions. 

The retailer can avoid frequent changes in cus- D by eliminating the price

promotions. Hence, EDLP  can make D more stable.

iii) We can reduce the variation in SC with Lead-time reduction.

 Variability rises with rise in LT .Longer LT ,larger is the variability. With it reduce 
BE l.

iv)Use many Strategic partnerships(SP) . Information sharing in SP reduces the variability in SC . SP  can eliminate BE by changing way in which information is shared &

 inventory is managed in SC.e.g, it was found that BE can be reduced or

eliminated by reducing LT e.g, ABC makes their

products globally. During the course of their BP, managers

found an increasing level of BE in SC.As a result of much research, they found that lead

time was increased due to slow BP. ABC usually takes two days to transmit the orders to the distributor, one day to arrange for the shipment, 3 days to transport the goods,

 2 days to account receipt and arrange it. Rise in LT  was one of 

the reasons for BE. ABC used better BP, information technology and

closer working arrangements with providers and distributors to reduce 
LT .Due to these, LT  reduced considerably.So,BE was also decreased.

5 Write about  a)3PL b) Its advantages c)Disadvantages 
3PL  is the use of an external co to perform few or all of  co’s logistics 

management & product distribution. It is  strategic alliance as it involves complex

relationships that are not included in a traditional logistics.

Now 3PL  co are more stabilised than the short-term engagement of external firms to perform

specific services, which are single-function specific.Such range from small co to large co,

 which earn large amount of revenues. These are considered as key part of 

SC.These can help to manage many stages of SC. Certain 3PL companies own assets such as

machinery, goods-carriage transport facilities and properties. Non-asset

owning 3PL co only provide coordination services to other 3PL

co who own assets and resources.Such are termed 4th-party logistics (4PL).

Generally, most of the large companies use  services and resources of

3PL co.These provide below services as:

Import and export management  Freight forwarding

Customs and freight consolidation Transporting

Public and contract warehousing Order fulfilment

Distribution

e.g, Blue Dart provides secure and reliable delivery of consignments to various locations in India.

b)Advantages  are as:

Focus on core strengths – It allows a company to focus on its core

competencies. It enables a company to use its limited resources for its

core functions.

Provide technological flexibility –It  constantly

update their IT skills and equipment depending on the changes in

requirements and developments in technology.

Provide other flexibilities – It also provides greater flexibility in the

operations of co. Co can achieve flexibility in geographic locations by using different 3PLs who provide regional warehousing in different areas. A company can also achieve flexibility in

service offerings, resources and workforce size through the use of 3PLs.

Savings on investments –Firm can save on capital investment required for logistics assets like land, vehicles &warehouses by using 3PL.

Disadvantages  are as follows:

Cost – Outsourcing logistical functions to a 3PL may increase the cost

of the operations. Hence, a company needs to ascertain the potential

benefits by doing a cost benefit analysis of a 3PL arrangement.
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JIT issues – JIT is a business model in which raw

materials are delivered just before the actual usage. This model, hence,

entails frequent shipment of goods. If such is not familiar

with the JIT process, then a lot of issues may develop. E.g, if such does not deliver fresh vegetables on time, then 5- star hotel with a large clientele may face problems in its food

preparation.

Loss of control – A company can lose most of the control of its logistics

functions. A company may not be able to confirm the shipping dates all

the time to its customers if it uses a 3PL.

Damage to goods – If it does not handle the freight

properly, then it may get damaged. The insurance company provides

compensation for the damage only after a thorough investigation.Firm also needs to make a new shipment to its client.So, this could result in a considerable loss of time and resources to co.

High exit barrier – Generally, 3PL contracts are for a long-term, and

have penalty clauses for early termination

6  Explain the framework and impacts of integrating IT with SCM?

Impacts of integrating IT with SCM are as:

Applications related to order processing – Integrating IT with SCM

has improved orders placing & checking order status. It has resulted in reduction of cost in order processing, as detection &correction of errors are done more accurately and easily.

Management of purchases in SC – Integration of IT with SCM has improved the management of purchases in SC. There are many applications that assist in the communication

with vendors, in checking price quotes, and in making purchases.

Tracking shipments to regional warehouses – Integrating IT with

SCM

provides firms with information on the performance of the

delivery service it is using. This also enables us to ensure

that the delivery services in use, are meeting their agreed timelines.

Reporting, processing, and settlement of claims are now easier using

the IT tracking system applications.

Inventory management(IM) – IT has become vital in IM.It has facilitated firms to set up EDI information programs with their customers.

Customer relations – IT assists firms in delivering the best

services to their customers. It has provided firms with the facility

to offer their customers, access to all the information that may be

required and also provides various ways for the customers to contact

them, with respect to issues related to the services. E.g,use of Internet allows 

 customers to get information related to cost of a product, place orders, track delivery, and pay bills. IT also assists in integrating customer information. 

Supplier relations – Integrating IT with SCM has led to closer

buyer and supplier relationship, through high levels of information

sharing.

. Such S are less, P activity tends to develop long term relationship

between  co & S . This in turn develops the suppliers’

capabilities and thus provides benefits to both the purchasing organisation

& S .Once we see & categorise our P activity, we can pursue  purchasing S(PS).

